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Calculate
85 x 32

; Calculate the length =) Simon scored A family bought a
2 FGCTOF‘IS.C 3 of the missing side.. 5 Decrease 6 63 out of 88 7 4 litre bottle of milk.
the following $18 b in his end of year exam. | One morning, the family
: Calculate 102 mm Y Calculate his | used 1269 litres ‘
expression... ) 25% percentage, rounding | of milk. “ i
Q4+ - your answer to the | How much do |
1 ZX - 54‘ ( 8 20) 2 xmm nearest percent. they have left? @
Calculate the area Peppers are sold . =
8 of this trapezium... 9 in Egcks of 6. ]-O Wr'|‘|'e 11 Solve the 12 §§§; 13
< t2mm —> How man . followin 720 aths
! i y 0-00506 "'ng Evaluate pupils L)
| emm| packs can in scientific equation... tsked
5 ! be made from ‘ 9 How rﬁany
< 8mm—> 465 peppers? notation. 4x —1=2x+6 \/2 62 144 preferred maths? (@
To bake cup cakes ] Calculate the length
14 ) 15 16 A pet shop has 17 . ; 18 [] 1 o
Mulflply out the Calculate enough feed to " ;r;;lsnao::znm, c;:::t:gz = 9 of the mussli;:g
following brackets last 15 hamsters for 99 of (140& 6%)°c.| Calculate ! 5m
and gather like 2 3 2 weeks. They sell T e gradient [ 9 mm
ferms... 4 E —1 Z F hamsﬂer;\s. FHow Whﬂairfe:;eg\c:?u?‘relg of this [ =
ong will the . . ] =
52x—1)+3(4 —x) feegd now last? @ w that are acceptable?| Step ladder. = <~ x mm
The following sh - - i nth’ :
20 arz rr?a’rohugrrr]\?x’rslcgﬁss 2 1 Imperial | Metric Find Tfhe nh 2 3 24 2 5 The mean weight of
similar. Calculate the Ieng’rh loz | 2835g term for the three elephants is

side...

; 24cm
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+—»
4 cm

of the missing [ y

A bag of sugar
contains 5 oz.

What is this

weight in kilograms?

following sequence
and hence find the
40t term;

4,10, 16, ..

Calculate
1344 + 24

Express — as
press o
a decimal

2700 kilograms.

Two of the elephants g
weigh 2200 and 3000 \t
kilograms. What is the
weight of the 34 elephant?

26 A savings account
will pay 5:2% ..

simple interest p.a. -

How much interest

will savings of £600
earn after 7 months?

27 Calculate the size
of the missing
angle...

-
61m L‘Bm

How long did a

plane take to
fly 2430 kilometres
to Rome at an
average speed

of 600 km/hr.? 7

29
2922
Calculate
the
perimeter
of this
shape.. < 36m—

30

The weather forecast predicts a 11 in 60

chance of sun. It also predicts a 23 in 120

chance of rain. -

According to the weather forecast,
is it more likely to be sunny or rain?
You must give a reason your answer.
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